
 

(7Χ7) +10=                            (6Χ5) + 42= 

(6Χ6) +20=                            (8Χ4) +56= 

(5Χ5) + 30=                           (9Χ4) + 26= 

(7Χ7) + 10=                           (8Χ7) + 18= 

(8Χ8) + 20=                           (5Χ7) + 26= 

(9Χ9) + 11=                           (8Χ6) + 24= 

(6Χ7) + 38=                           (7Χ6) + 19= 

(7Χ8) + 44=                           (9Χ6) + 30= 

(3Χ8) + 16=                           (8Χ7) + 27= 

(9Χ5) + 35=                           (6Χ8) + 37= 

(8Χ6) +42=                            (7Χ5) + 45= 

(9Χ6) +26=                            (5Χ9) + 29= 

 

 

1. Να σχηματίσετε μαθηματικές εξισώσεις με τους αριθμούς  
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